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Eptesicus fuscus
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Lasiurus borealis
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Lasiurus cinereus
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Lasionycteris noctivagans



5000 10000 15000 20000

1.
0

1.
5

2.
0

Iterations

Trace of (Intercept)

1.0 1.5 2.0 2.5

0.
0

0.
5

1.
0

1.
5

2.
0

2.
5

Density of (Intercept)

N = 2000   Bandwidth = 0.03699

5000 10000 15000 20000

−
0.

5
0.

0
0.

5
1.

0

Iterations

Trace of quality2−good

−0.5 0.0 0.5 1.0

0.
0

0.
5

1.
0

1.
5

Density of quality2−good

N = 2000   Bandwidth = 0.05279

5000 10000 15000 20000

−
0.

5
0.

0
0.

5

Iterations

Trace of quality3−goodfair

−0.5 0.0 0.5 1.0

0.
0

0.
5

1.
0

1.
5

Density of quality3−goodfair

N = 2000   Bandwidth = 0.0477

5000 10000 15000 20000

−
0.

5
0.

0
0.

5
1.

0

Iterations

Trace of quality4−fair

−0.5 0.0 0.5 1.0

0.
0

0.
5

1.
0

1.
5

Density of quality4−fair

N = 2000   Bandwidth = 0.05936

Nycticeius humeralis
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Perimyotis subflavus
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Tadarida brasiliensis
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